PHYS 101: General Physics1 KOC UNIVERSITY Spring Semester 2015
College of Sciences

Section 2 Quiz 7 17 April 2015

Closed book. Duration: 10 minutes

Name: Student ID: Signature:

A massless spring is fixed at the bottom of the inclined surface of angle
(6). A box of mass (m) is placed in front of the spring when the spring is
at its natural length, and then the box is released. The kinetic friction
coefficient of the incline is (u;), the spring constant is (k), gravitational

acceleration is (g).

Find the maximum amount the spring can compress in terms of given

quantities.
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A box of mass (m) is on an inclined surface of angle (8). The kinetic
friction coefficient of the incline is (u). The box is attached to a
massless spring which is fixed at the top of the incline. The spring
constant is (k), gravitational acceleration is (g).

The box is released at a point where the spring is at its natural length.
Find the maximum amount the spring can stretch in terms of given
quantities.
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PHYS 101: General Physics 1 KOC UNIVERSITY Spring Semester 2015

College of Arts and Sciences

Section 3 Quiz 7 17 April 2015
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Name: Student ID: Signature:

A massless spring is fixed at the bottom of the inclined surface of
angle (8). A box of mass (m) is placed in front of the spring when the
spring is compressed by an amount (x), and then the box is released.
The kinetic friction coefficient of the incline is (yg), the spring
constant is (k), gravitational acceleration is (g).

Find the maximum distance (d) the box can move up on the inclined
surface from its release point in terms of given quantities.

usiag the conservation of enerdy ,we can WEITE

Mt Ugny £+ Yoot Wather = 6o - g + U

0 4 o 4 L Ka™ pe my Gse o/r: oJr,mJJsme) Lo

b

oJ _ 1 k™
V’ﬂj‘ (s i E4-Hs f"o§9)




